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You need to find a product that will allow for the deployment of security devices to a new tenant edge
network in less than one second. Which product accomplishes this task?
Response:

A. MX

B. NFX
C. vSRX
D. ¢SRX

Answer: D

According to Juniper Networks, what is the recommended external routing protocol for the underlay
network?

Response:

A. EGP
B. IS-IS
C.BGP
D. OSPF

Answer: C

The vMX Series provides which two benefits?
(Choose two.)
Response:

A. The vMX Series uses containerization technology for rapid service enablement.
B. The vMX Series uses carrier-grade routing optimized for the x86 environment.
C. The vMX Series requires a license for production environments.

D. The vMX Series uses a Trio ASIC.

Answer: B,C
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What are two components of the Juniper Networks SDSN solution?
(Choose two.)
Response:

A. manual secure policy control

B. dynamic VPN connections

C. enforcement everywhere on the network
D. centralized management

Answer: C,D

Which method does WANDL use to collect live network information?
Response:

A.FTP

B. SOAP
C.TFTP
D. SNMP

Answer: D

What are two requirements for provisioning a device using ZTP?
(Choose two)
Response:

A. The network must have a DHCP server.

B. The network must support VPN tunnels.

C. The network must have a hosted server that stores the device image and configuration.
D. The network must have an NTP server.

Answer: A,C

Visit us at



A customer must provision multiple devices in their data center and would like to automate this process.
What would you use to accomplish this task?
Response:

A. NSSU
B. SSO
C.ISsuU
D. ZTP

Answer: D

What are two roles of sandboxing in Sky ATP?
(Choose two.)
Response:

A. to test the operation of security rules

B. to validate the operation of third-party components
C. to analyze the behavior of potential security threats
D. to store infected files for further analysis

Answer: C,D

From where does AppFormix gather performance metrics in a network?
Response:

A. from an agent on a host or system

B. from a NETCONF connection

C. from RPM probes sent across the network

D. from statistics NFVs instantiated in the data path

Answer: A

Which two statements are correct when the vSRX base license expires?
(Choose two)
Response:
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A. The vSRX will stop forwarding traffic.

B. The vSRX management CLI access will be preserved.

C. The vSRX will be disabled and no configuration will be possible.
D. You will have to reinstall the vSRX.

Answer: A,B

Visit us at



For More Information — Visit link below:
https://www.testsexpert.com/

16S$ Discount Coupon: 9IM2GKANW

Features:

‘/Ioney Back Guarantee..................c.e...

B 100% Course Coverage.......covovvivviiinnnnnn.

| 92 Days Free Updates.............cccooinnnnn,

‘ Instant Email Delivery after Order.................. | .'/

oy > [

Visit us at


http://www.tcpdf.org

